
ATLAS SCT Module Timewalk Curve  -  ABCD2T  -  Inverse sqrt+ fit

Run 1443   Scans 1 - 9   Charges 1.50 - 16.00 fC   Module 0   Stream 2
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Timewalk chip 0 p0       = 4.399 +- 0.3679 

p1       = 9.664 +- 0.8824 

p2       = 1.057 +- 0.07843 

Timewalk chip 0 p0       = 4.399 +- 0.3679 

p1       = 9.664 +- 0.8824 

p2       = 1.057 +- 0.07843 
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Timewalk chip 1 p0       = 5.778 +- 0.2019 

p1       = 8.978 +- 0.6909 

p2       = 1.062 +- 0.07499 

Timewalk chip 1 p0       = 5.778 +- 0.2019 

p1       = 8.978 +- 0.6909 

p2       = 1.062 +- 0.07499 
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Timewalk chip 2 p0       = 6.941 +- 0.5208 

p1       = 10.55 +- 1.269 

p2       = 0.9433 +- 0.1286 

Timewalk chip 2 p0       = 6.941 +- 0.5208 

p1       = 10.55 +- 1.269 

p2       = 0.9433 +- 0.1286 
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Timewalk chip 3 p0       = 4.975 +- 0.4028 

p1       = 9.998 +- 0.978 

p2       = 1.012 +- 0.09376 

Timewalk chip 3 p0       = 4.975 +- 0.4028 

p1       = 9.998 +- 0.978 

p2       = 1.012 +- 0.09376 
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Timewalk chip 4 p0       = 4.595 +- 0.5305 

p1       = 9.878 +- 1.253 

p2       = 0.991 +- 0.1156 

Timewalk chip 4 p0       = 4.595 +- 0.5305 

p1       = 9.878 +- 1.253 

p2       = 0.991 +- 0.1156 
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Timewalk chip 5 p0       = 2.868 +- 0.4657 

p1       = 10.63 +-  1.11 

p2       = 0.9795 +- 0.0993 

Timewalk chip 5 p0       = 2.868 +- 0.4657 

p1       = 10.63 +-  1.11 

p2       = 0.9795 +- 0.0993 
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Timewalk chip 6 p0       = 5.446 +- 0.3335 

p1       = 10.09 +- 0.805 

p2       = 1.057 +- 0.06961 

Timewalk chip 6 p0       = 5.446 +- 0.3335 

p1       = 10.09 +- 0.805 

p2       = 1.057 +- 0.06961 
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Timewalk chip 7 p0       =  4.11 +- 0.388 

p1       = 9.968 +- 0.9433 

p2       = 1.003 +- 0.08574 

Timewalk chip 7 p0       =  4.11 +- 0.388 

p1       = 9.968 +- 0.9433 

p2       = 1.003 +- 0.08574 
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Timewalk chip 8 p0       = 2.766 +- 0.4153 

p1       = 10.31 +- 0.976 

p2       = 1.001 +- 0.0887 

Timewalk chip 8 p0       = 2.766 +- 0.4153 

p1       = 10.31 +- 0.976 

p2       = 1.001 +- 0.0887 

Q (fC)
0 2 4 6 8 10 12 14 16 18 20

T
im

ew
al

k 
[n

s]

0

5

10

15

20

25

30

Timewalk chip 9 p0       = 4.147 +- 0.4134 

p1       = 9.808 +- 0.9893 

p2       = 1.037 +- 0.08722 

Timewalk chip 9 p0       = 4.147 +- 0.4134 

p1       = 9.808 +- 0.9893 

p2       = 1.037 +- 0.08722 
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Timewalk chip 10 p0       = 3.931 +- 0.3261 

p1       = 9.897 +- 0.803 

p2       = 1.025 +- 0.07684 

Timewalk chip 10 p0       = 3.931 +- 0.3261 

p1       = 9.897 +- 0.803 

p2       = 1.025 +- 0.07684 
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Timewalk chip 11 p0       = 3.914 +- 0.4419 

p1       = 9.196 +- 1.051 

p2       = 1.054 +- 0.09128 

Timewalk chip 11 p0       = 3.914 +- 0.4419 

p1       = 9.196 +- 1.051 

p2       = 1.054 +- 0.09128 


